SO 3260

UNIVERSITY OF WARWICK

Summer Examinations 1995

POPULATION AND SOCIAL CHANGE
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Candidates who have NOT submitted an assessed essay should answer THREE questions.

Time allowed:  3 hours

Candidates who have submitted an assessed essay should answer TWO questions.

Time allowed:  2 hours

Read carefully the instructions on your answerbook and make sure that the particulars required are entered on each answerbook.

______________________________________________________________________________________________________________________________________________________

 1 
To what extent and why did mortality rates in Britain over recent centuries decline at different times for different age groups?

___________________________________________________________________________

 2 
To what extent was the fertility decline in Britain during the late nineteenth and early twentieth centuries a consequence of a mixture of economic, cultural and technological factors?

___________________________________________________________________________

 3 
`Wage levels affected age at marriage; age at marriage affected fertility levels'. Discuss, with reference to Britain between the seventeenth century and the Second World War.

___________________________________________________________________________

 4 
Have changing theoretical and public perspectives on marriage and the family since 1945 been reflections of underlying changes in the institutions themselves?

___________________________________________________________________________

 5 
Do increasing numbers of cohabitees and of never-married people suggest that marriage is of decreasing significance in contemporary Britain?

___________________________________________________________________________
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___________________________________________________________________________

 6 
`Homogamy is a consequence of cultural norms, therefore heterogamy is bound to lead to conflict'. Discuss.

___________________________________________________________________________

 7 
How important are patterns of women's paid employment to the explanation of contemporary British fertility patterns?

___________________________________________________________________________

 8 
`Whatever tactics social policy-makers resort to in an attempt to curb teenage pregnancy in contemporary Britain, the attempt is doomed to failure'. Discuss, with reference to the reasons for teenage pregnancy.

___________________________________________________________________________

 9 
Does the rise of marital therapy and marriage guidance counselling provide conclusive evidence in support of Morgan's assertion that marriage has been `medicalised'?

___________________________________________________________________________

10 
Divorce rates have risen in post-war Britain, but different types of couple still have different risks of separation and divorce. What can we learn about the causes of marital dissolution from these trends and patterns?

___________________________________________________________________________

11 
`A divorcee and her dependent children occupy a position on the margins of contemporary British society'. Discuss.

___________________________________________________________________________

12 
Do stepfamilies necessarily suffer more and worse problems than other sorts of families in contemporary Britain?

___________________________________________________________________________

13 
Comment on the similarities and differences between suicide and lung cancer as sources of mortality.

___________________________________________________________________________

14 
`Internal migration in contemporary Britain is simply the result of job-seekers matching themselves to job vacancies'. Discuss.

___________________________________________________________________________
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___________________________________________________________________________

15 
`Mortality differentials between developed and less-developed countries are here to stay'. Discuss.

___________________________________________________________________________

16 
Is it worth applying theories of demographic transition derived from the histories of developed countries to contemporary changes in less-developed countries?

___________________________________________________________________________

17 
`National population policies vary from those which are effective but unethical, to those which are misguided and ineffectual'. Discuss.

___________________________________________________________________________

18 
Does the ageing population in contemporary Britain show that demographic change needs to be central to the agenda of policy-makers?

___________________________________________________________________________
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